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(ii)
(ii1)

(iv)

(v)

(vi)

6.

3G 7-97 H FT 13 o7 & | THT T ¥ & |
ST YH-YT H A7 @S E - @IS &, @I/

QS FHY 8 o7 (377 G&IT1 T8) 2 3% & & | 57 Fo41 71 I 50 F1ql & ¥Rk [T
BT ST T3 |

GUS & H 3 F97 (397 G&I79 @ 11) 4 3% & & | 39 F94] &7 I 100 Fsg] & Haw
T [T ST 6T | THIGE STIRT 941 & I GegaR 15T 77 =1ieq |

@Ug T4 2 Y97 (Y97 G&IT 12 UF 13) 6 37F & & | 37 Y971 &7 35K 170 Il &
Y QT 1637 ST T |

J97-97 § BI5 GHY faheq 787 & | ETcAlie, & Jo9l § aRk® [aeheq BT 757 JqTH
1637 T 8 | 39 FHR & F9 § G HaT T & I FT IR 1G0T |

QUE &
1971 % TG % SIg AT Tehe & ToTU IR fohral I HREN o1 fagersor
it | 2x1=2
g fava g o a1¢ JUT <0 o A T Tt foheal G FHEATSTT i IATR
it | 2x1=2
1975 T =NTYd TSR SATITAHIA o WA & NN W I8 IUTE hT 3Thed hifT | 2
eI ITT™ g TfddTfed “TehTed HHadraTe i 379 Tose hifvie | 2
TR & @H-IH hl 3Tedi W aveienor & fohegl @ J9El @l ISR
It | 2x1=2
et & faiy o fereal @ shron <kt fagaimor SHifa | 2x1=2
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(ii)
(ii1)

(iv)

(v)

(vi)

6.

This question paper contains 13 questions. All questions are compulsory.
This question paper consists of three Sections — Section A, B, and C.

Section A has 8 questions (Questions no. 1 to 8) of 2 marks each. Answers to
these questions should be completed within 50 words each.

Section B has 3 questions (Questions no. 9 to 11) of 4 marks each. Answers to
these questions should be completed within 100 words each. Answers of MAP
question should be attempted accordingly.

Section C has 2 questions (Questions no. 12 and 13) of 6 marks each. Answers
to these questions should be completed within 170 words each.

There is no overall choice in the question paper. However, an internal choice
has been provided in some questions. Only one of the choices in such questions
have to be attempted.

SECTION A

Analyse any two reasons that led to the economic crisis after the 1971

election. 2x1=2

Highlight any two problems faced by the European countries after the
Second World War. 2x1=2

Assess the impact of national emergency, declared in 1975, on the people
of India. 2

Explain the meaning of ‘Integral Humanism’ as propounded by

Deendayal Upadhyaya. 2

Highlight any two effects of globalisation on the eating habits of the
Indians. 2x1=2

Analyse any two reasons for the resistance to globalisation. 2x1=2

.59/2/2 3 P.T.O.
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AT o Tehral & Ui Taeh IRUMTHT skl IFFR HITST |

(%) ‘oNTEAT 1 TG HH A foheal =R g1 o A9 fARaw |

AYAT

(@) T 9 o fohral IR HEET <@ o A9 fAIRaT |

Qs @

T&H (SAARC) ! HHTAAT T Yoo HIfT |

frefigelt Teamaa <l FEhRI Wl Aqcd T Il WRA o Toheal 376 UM HERT %

Tm fafau |

1

8x —=4
2

WA o feu T Torftfaes [@r-amEte (358 5 W), § 9K T H @), ®), ©
AT (D) o g 3ffehd fobam 1 B | el &t S SR o MU W 3T TSN

UgIM HINT 3R 0 IT-GEdent H $eh Tl 9, TAN hi g JHhR
HU-TEAT qA AHET | fm mn gefaq s, A= & 78 arferee & &9 4

faf

TN <hl T8 MR
1 HU-GEI

s |
TEd 3TeR

Y bl AMH

(1)

(i)

(iii)

(iv)

() 98 TsY o8 qued HHITE & 1598, 1.9, Ausd bl Ty o |

(i) 98 TSI Tl guay Afet ford 2 |

(iii) 98 UST SN Sficienl <hl ST GHEeA 8 9difies J9Tfead @7 |

(iv) o8 USY &l S5 g1 91l 4 SRR &15 off |
.59/2/2

4

4x1=4



I H. 11 & fou

km Scale 1:15000,000 km
100500 100 200 300 400 500
[ — " —

.59/2/2 5 P.T.O.




EEE
B

7. Highlight any two political consequences of globalisation. 2x1=2
8. (a) Name any four countries that established ‘ASEAN’. 4x é =2
OR
(b) Name any four member countries of the European Union. 4x é =2
SECTION B
9. Evaluate the success of SAARC. 4
10. Name any eight Prime Ministers of India who led the -coalition
1
governments. 8x 3 =4
11. In the given political outline map of India (on page 7), four States have
been marked as @), @), (©) and D). Identify these States on the basis of
the information given below and write their correct names in your
answer-book along with the respective serial number of the information
used and the concerned alphabets given in the map as per the following
format :
Serial number of the | Concerned alphabet Name of the
information used in the map State
(1)
(ii)
(1i1)
(iv)
(1) The State to which B.P. Mandal, the Chairman of Mandal
Commission, belonged.
(ii)  The State where Somnath Temple is situated.
(iii)) The State which was most concerned about the ethnic problems in
Sri Lanka.
(iv)  The State where Bahujan Samaj Party formed the government. 4x1=4
.59/2/2 6




For question no. 11

km Scale 1:15000,000 km
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Outline Map of India (Political)
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Fig:  [HEligd 3e9 Fac GRS GOt & o) Jo7 G871 11 % €& |
g:

(11.1) HUsH HHIIF & AT @ 1.9, 7ved, 1967 § fopm U9 4 ¥Hc

o e

geey faited gu o ?

(11.2) g AT 41 ! Go¥ g fopd TS 1 oSt Fpetar fHeft off 2

(11.3) g T s T Hr=l 6 dgelt TS TR & GUEHA w1 AW
ferfm |

(11.4) = fUsg i o fTU AR&w ifd AR FH aTat FY I v T

% g ot 9 2 4x1=4

wus 1

12. (%) 9Rd ® 1971 % A1 UNOMHI i YuTfad i aTel fohegl diF shehl =l
T HIT | 3X2=6

AYAT

(@) 1969 T ST Ul & favreH & fow ItRert fhegl &9 SR @ Tase
T | 3x2=6
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Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 11 :

(11.1) From which State was B.P. Mandal elected as Member of

Parliament in 1967, who later chaired the Mandal Commission ?

(11.2) In which State did Bahujan Samaj Party achieve a breakthrough

for the first time ?

(11.3) Name the Prime Minister who headed the first coalition

government of National Front at the Centre.

(11.4) Karpoori Thakur, the Chief Minister who introduced the policy of

reservation for OBCs, belonged to which State ? 4x1=4

SECTION C

12. (a) Explain any three factors that influenced the results of 1971

election in India. 3x2=6

OR

(b)  Explain any three reasons that led to the split in the Congress

Party in 1969. 3x2=6
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13. (%) Uifha T ciiohad F1 A%t &l & deht ? fohegl i shront a1 fargeryor
I | 3x2=6
AT
(@) “ufyen o ot < H Arehas & fd sues gueds g |7 fRedl i o &

3T AR hAF hT THYA HIfNT | 3x2=6
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13. (a) Why could democracy not succeed in Pakistan ? Analyse any three
reasons. 3x2=6
OR

(b)  “There is widespread support for democracy in all the Asian
countries.” Support the statement with examples from any three

countries. 3x2=6
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